
104   

Airbag lifting devices

HS 5000 / 8000 / 10000 EO

Selection table / available versions

Lifting capacity
(kN)

Lifting
(mm)

H1
(mm)

H2
(mm)

S
(mm)

L
(mm)

B
(mm)

Weight
(kg)

Order No. Drawing No.

50 280 280 165 500 1288 640 100.0 HS 5000 EO 650.002.000
80 ** 300 300 205 620 1560 660 146.0 HS 8000 EO 650.007.000
100 400 400 205 710 1605 740 160.0 HS 10000 EO 650.021.000

** 100 kN at a pressure of 0.8 Mpa (8 bar)
Free space of at least 15 mm around moving parts!

75
0

941

42
0B 63
0

59
0

S

H2
H1

12
080

13
0

50

L
252

10
8

ø

HS 5000 EO

lif
tin

g

Subplate not self supporting

Compressed air connections M22x1.5 and Rp3/8"

ø160

75
0

250 1200

31
0

60
0

12
0

58
9

50

80

B

S

H2
H1

17
0

L

HS 8000 / 10000 EO

Subplate not self supporting

Compressed air connections M22x1.5 and Rp3/8"

lif
tin

g



        105 

Airbag lifting devices

HS 5000 / 8000 / 10000 EO

Spare parts

Item Description Quantity HS 5000 EO HS 8000 EO / HS 8000 EO-01 HS 10000 EO
1 Pneumatic bellow 1 212.030.000 212.013.000 212.034.000
2 Bead ring 2 212.017.000 212.005.000 212.005.000
3 Guide roller 2 655.002.010 655.002.016 655.002.016
4 Locking ring 2 915.000.190
5 Washer 2 000.006.028
6 Pivot pin 2 655.012.002 655.007.003 655.007.003
7 Chassis bearing 4 650.007.005 650.007.005 650.007.005
8 Grease nipple 2 905.000.185 905.000.185 905.000.185
11 Clamping pin 13x80 2 NT0031800 NT0031800 NT0031800
17 Countersunk bolt M16x25 16 000.001.001 000.001.001
18 Hex bolt M8x20 32 000.001.076
19 Hex bolt M16x25 16 000.001.002 000.001.002
21 Hex nut M20 4 000.002.002 000.002.002

8

7

3

5
4

7

6

6

11

811

18, 19

1

2

3

3

18

21

17

HS 8000 / 10000 EO HS 5000 EO


